Climate scientists misinform about the atmospheric effect.

The atmosphere as a whole insulates, i.e. delays the departure of energy
received from the sun. Delays cooling. What role does CO2 play in the context?

CO2 receives much energy compared to N2. CO2 does not keep the energy. It is
given away when opportunity occurs. When it comes to a colder area in the
atmosphere.

More CO2 in the atmosphere increases the loss of energy! Then we get cold
faster!

Less CO2 reduces the loss of energy! Then we get cold later!

This is in accordance with the laws of physics and knowledge of CO2's ability
to absorb and thus release a lot of energy. The energy is transferred from hot to

cold in the atmosphere, never the other way around!

Why are we then seeking to reduce CO2 emissions?



